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121, Find the correct relationship between G.C.D, ang LM
I GCD.=LCM.’

. G.CD. £LCM. " -
. LCM. < G.CD.

Iv. LCM. > G.CD.
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The "]’ﬂ* term of the sequence 0,12, D ﬂlE 0.0012

l:EJ
D) 1.2x1077

0.12, 0.012, 0.0012..,

90 GHMNL Sisaieng :ﬁ.m‘r@ﬁ' 8% e

3 3

)

118,
(A) 1.2x10"
(C) 1.2x107
(A 12x10°
C) 12x10’
119, Simplify
9
85 “r(d
11
Ay - 1L
(A) T
© 138
18
FMEEs
9.3
o
"1l
(A) =
13
c), 1=
© 18
. 120.
(A) 20 years
(C) 25 years
(A) 20 sycmBacr
(C) 25 g an®ser
CCSFT
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v GTEHID QFTIL.I? anflensud s T-spans 2 mildy.
1.2x%107°

88

(D) 1.2x107"

certain time, The I:u:ne takﬂn is °
(I-'.J 22 years

(D). 30years
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D). Oyan@sar - .
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123.

124,

The G.C.D. and L.C.M. of 90, 150, 225 is

(A) 15,50 - (B) 450, 15

(Cy g0, 225 ; (D) 225, 150

90, 150, 225 g flw adrsaflar B.Qumeu whmth f,Qum.wo,

(A) 15, 450 ; , (B) 450, 15

© 93,225 (D) 225; 150

—

3

If _}r-——}:{ifﬁn.d the value of 3° = S
kY L

(4) 216 . (B) 222
(C) 234 { - (D) 228 -

1 T | o
J’—; =6 erafla ¥ ——;;@sh wA@UE Sners,

(A) 216 . . @) ‘292

EG) _234 - . 1 :: (D;. ‘9ag _-

Which of the fu]]uwmg statement is false in a Pa.rullalugram'? i

(A) The uppwlte EldES are parallel

_{Bj The opposite angles and sides are equal
(C)  The diagonals are equal ;

.{D] The diagnna]_s bisect each other
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(B) efQudi Caramissdr 1o fuj [T uumm FLOLnmELh
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120.

Reciprocal of 0 is — y -

W 0 ® 1

€ = (D) 'no reciprocal

0-cBlir sencifyfl = : = = : 5
(A) 0 ® 1

———

© = L \m:- goadifl AaLwng \

Which one of the Enl!uwing statements is [nInE"’

(\) Among the common divisors of g'umn numbnm, the g-ruutnat divisor i is tha G. C D.
(B If lhe G.C.D. of nny twa numbers is 1 the:.r are said to be prime numberu

(C) Among the commnn mulhptes of given numbers, the least is the L_CM

(D) The product nf any two numhers is equal tn the product of lh!l.l' G.C.D. and LDM.

Epangmb sppaaild ag gauprar mppn@.h? R T . I'. > s
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163-

166.

167.

(C) pain

‘{M. e.:ll_-iﬁ:ﬁ'rmm! | T . (B) dlplumer B

If the product of four consecutive terms in G.P is 625. Find the first term.
(N 15 (B) 25
c 5 . (D) 35

g Qumdms Qend maﬂmeuﬂm SBEEREE préng p_guq;nﬂm QuEbeH @snens 625 -aafla g

EOEE B MIUMUE SEres.

(A) 15 | (B) 25 .

E:EJ’_—’?_[‘ | | @ 3

CGain or loss percent is always calculated on
(A) costprice g (B) . selling price
' (D) loss

Bl odag sl ssdsb auQurpgib apd Cud serad Ou@dpg?

{C] Aenub - ‘ ' (D) : plLth

A student goes to his school from his house at n speed 3 km/Mr and returns at a sp "
2 km/hr. If he takes 5 hours in going and coming the distance between his house und m:hml is

(4) 5km ' - . ° (B) 55km
(€) 6km g .7 (D) 65km

S Wwramaud Sieugy L udteilas Qadgnd Gunz “‘“HEIE Sd.b dﬂl-ﬁ'ﬂﬁﬂﬂlm udtafud el migl t-'-ﬁ@ -
Bobud Curg walig 2 Ab Cusifgd Cedlpnt. Cogib wiai usaflig Osdp ey
S wedIGryb B EHE ﬂmrriml_nm udrafl&gih ail_q_m@m 2.6t £amb . ®

(A) 548 - (B) 55448

(0 eas | | © ssas
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173. 1r a, b, ¢ are in A", then 3% 3% a° arein

(A) AP _ By G.P. ' .
(C) APl .and G.P. (D) None of these

: r )
a, b, ¢ aaue g mL®s Qsmiauflmsls adear erafld 3%, 3%, 3° gyl -

aren Agmuieuflensudd o drargy.

(A) AP - 1

Q) AP. wpgub G.P. D) ez Eas - I

174.  If =1<r<1, then the sum of infinite number of a geometric sefies is

A a(r" -1) : a(l-r")
A ST . B S
- . T A "N
© - @ na . LT
- ‘r[..:
-ler<l mﬂﬂéyqﬂﬂmmﬁ@ﬂgé@ﬁaﬁmﬂﬁhm@m' s o HEE | ¥ :
=, . -'_ J.;I
A et -1 o a(l—r") | R
r=1 B - (B} 1-r ok . m : .l,:'_' '._i
- 1 = _ _ ; ‘ o
= R 4
| |
176. The angle in a semi circle is a l
A t - - % |
:C:: i :ng}e ®) cbtuseangle i
straight ' ’ - o
1ght angle (D) right angle ' . .'I
; ) N
.ﬁmu'ml'.l-ﬁﬂﬂ-aa?mMLhﬂsnmﬁ: : T
- -& . s . ’ *
(A) GUWETEID | o (B) AN Csrems
' Cpir Ganewnh S e 2n DI
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168,

169.

If %, 2¢+2 3x+3 arcin G.P, then 11x, 22x + 22, 33x + 33 form

(A) anAD.
(B aGP

(C) . a constant sequence

(D) Neither :Ll;. nor a . P,

¥, 2x+2, 3x+3 adue on Qumées Qg aflasnddimodear 11x, 22x + 22, 33« +33 eréh

Qgnuir cnflanawreng

(A onal@ssmiafms

] ] (B)  @mQumiss Osrd r.'urﬂsnsl \

(C)  o@wrldQsmniaflas

M) om &L05 A aflenswyb sdo Qumies Qe mﬂmamh Sidw

The sum of three numbers is 264 if ﬂ‘ll.’. first number be twice the aecnnd antl ﬁurd numh;r.

be one-third of the first, then the scmnd number is

W 48 - I T AN
(C) 54 | S I - . :

'

apem ereraaficn m@;m EEJ, aPEd e @I;rﬂ'n_n:uy T Gurrm @@ WOLI, EP&"SU"‘"B cr;-rw
cenaile gpandld g ulig aalls Qumrl..nmg eTe m:rg?
@ 48 et
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116.

117

The value of € is

@ e -

(&) Ce I O
e” -eflatr ALy L : |
Q) e a2 ' B) 1.

© o L (D}au

How many solutions have a linear equation in one variable"-'

(A) Three solutions . () Umque solution . - '

(C) Twosolutions =~ S fD) ND solution
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